



Date: 09/19/2017

Page 1 of 4

hip To:	:	Bill To:		Billing (Contact:		
CITY OF SAN DIEGO Open Space			Billing Contact: DAVID TRAN				
02 "C"	STREET, FLOOR 5	202 C Street, 5th Floor San Diego CA 92101	Telephone:				
AN DIE	EGO CA 92101-4806			E-Mail:d	avidt@sand	iego.gov	,
endor		nce	Terms:	dava Du			
	PO Box 1706	nce	within 30 Delivery		enet		
	Vista CA 92085-1706		FOB Des				
			Buyer:	Katr	ina McDona	d	
			Telepho	ne: 619	236-6038		
endor	ID: 10003500 Telephone:760-650-31	20 E-Mail: info@westturf.com	E-Mail:	KMN	/lcDonald@s	sandiego	.gov
ne#	Item ID/Description	Del.Date Q	uantity/UM	Un	nit Price	Exte	nded Price
1	LANDSCAPE MAINT CAT I	06/30/2018	11 MON	USD	2,836.19	USD	31,198.09
	Carmel Valley (Area I) MAD - Provide landscap accordance with BID# 10071380-17-M and OA 08/01/2017.	ce maintenance services in			,		- ,
	INSURANCE AND BUSINESS TAX CERTIFIC						
	IMPORTANT NOTICE TO CONTRACTOR: All category performed and dollar amount per the or by total invoice amount.						
	Please include PO number 4500093699on all ir						
	gflores@sandiego.gov or by U.S. mail to the bil the PO to the ATTN: George Flores. If question Flores at 619-685-1335.						
2	LANDSCAPE MAINT CAT II	06/30/2018	11 MON	USD	1,036.16	USD	11,397.76
3	LANDSCAPE MAINT CAT III	06/30/2018	11 MON	USD	372.67	USD	4,099.37
4	LANDSCAPE MAINT CAT IV	06/30/2018	11 MON	USD	4,534.33	USD	49,877.63
5	LANDSCAPE MAINT CAT V	06/30/2018	11 MON	USD	2,066.31	USD	22,729.41
6	LANDSCAPE MAINT CAT VI	06/30/2018	11 MON	USD	2,600.74	USD	28,608.14
7	LANDSCAPE MAINT CAT VII	06/30/2018	11 MON	USD	394.44	USD	4,338.84
8	LANDSCAPE MAINT CAT VIII	06/30/2018	11 MON	USD	279.28	USD	3,072.08
9	LANDSCAPE MAINT CAT IX	06/30/2018	11 MON	USD	617.33	USD	6,790.63
10	LANDSCAPE MAINT CAT X	06/30/2018	11 MON	USD	8,545.23	USD	93,997.53
11	LANDSCAPE MAINT CAT XI	06/30/2018	11 MON	USD	1,217.67	USD	13,394.37
12 tes: Th	ne Terms and Conditions of this Purchase O	rder are available at http://sandiego.gov/pu	Irchasing/				
				SE			
	IMPO	DRTANT!			FOR ⁻	IOT	ΔΙ





Date: 09/19/2017

Page 2 of 4

LANDSCAPE MAINT: - CAT XII UESD2018 11 MOI USD 12,000 USD 13,1 LANDSCAPE MAINT: - CAT XII UESD2018 11 MOI USD 0,0000		ER YICH		 		11-24 D. 2			
Image: space in the s	Line #	Item ID/Description	Del.Date	Quantity/UN	Л	Uni	t Price	Exten	ded Price
Index Index Index Index Index Index Index ANSSCAPE MANT CAT XV 06:30:2013 36:001 EA US 1.00 US 3.000 EA US 1.00		LANDSCAPE MAINT CAT XII	06/30/2018	11	MON	USD	1,206.00	USD	13,266.0
15 LODGLEP MINT EXTRA LABOR 06.00.2018 36.000 EA U.S 1.00	13	LANDSCAPE MAINT CAT XIII	06/30/2018	11	MON	USD	881.42	USD	9,695.6
By performing the services detailed in this purchase order. Contractor or she is aware of the wage provisions described herein and shall compty with and provisions before commencing area visions and the services. A PREVALUN WAGES. Pursuant to San Dego Municipal Code sections takes. For construction induction, repair and maintenance work, performed under this Contract cumulatively exceeding 515,000, he construction and sub-contractors shall compty with State prevailing wage laws including, but not initied to, the requirements listed balow. The section of the work performed under this Contract cumulatively exceeding 525,000 and the Contract cumulatively exceeding 515,000, he construction and sub-contractors shall compty with State prevailing wage laws including, but not initied to, the requirements listed balow. The section of the work of the contract to purchase or the sections of the section of the work of the contract of the section of the contractor must difference with performed under the performance. University wage laws including, but not initied to, the requirements listed balow. The requirement is an advector the pervaling tage Rates. 1. Compliance with Pervaling Wage Requirements. Pursuant to sections to construct in the section of the Construction in the design and percent are paid not less than the provaling rate of per demin wages as destinated by the Direct of the Construction the design and percent and the sub-construction induction, but not finited to, inspection and that sub-construction induction, but not finited to sub-construction the sub-construction phases of construction induction, but not finited to sub-construction phases of construction induction, but not finited to sub-construction phases of construction induction, but not finited to sub-construction phases of construction induction, but not finited to sub-construction phases of construction induction, but not finited to sub-construction induction, but not finited to sub-construction induction, but not finited to sub-construction induct	14	LANDSCAPE MAINT CAT XIV	06/30/2018	11	MON	USD	277.45	USD	3,051.9
By performing the services detailed in this purchase order. Contractor in order is a ware of the wage provisions described herein and shall comply with and provisions bediending. Additional predia and shall comply with and provisions bediending. Additional predia and shall comply with a performed under this Contract curuulatively executing \$25,000 and the of lateriatiot, demonstrations, repair and maintenance works performed under this Contract curuulatively executing \$15,000, the contractor must diversified by the Star predia and shall complex upper lateriations and the subcontractors shall complex predia adjust the formation of the star prevailing years and the subcontractors and pay the highest of the two rates to their amplyoges. Using Wage apple term with an exist shell to Prevailing years and the subcontractor and pay the highest of the two rates to their amplyoges. Using Wage apple term with a subcontractors and incomplex performed during the design and prevails field of the two rates to their amplyoges. Using Wage apple to office shann the prevailing rate of or deim wages as desting the subcontractors and late office the extent star base construction phases of othe Costinuution in Lates of the performed during the design and prevails. Copies of the prevailing rate of per deim wages as desting the subcontractors will post a copy of the prevailing the topics of subcontractors will post a copy of the prevailing the desting and the desting the desting and the performed of the performed the topics of subcontractors will post a copy of the prevailing the defer the appreciation dates, then the published rate of wages that the devision dates excert will be the of the costing the term of the performed term of the published topication. If the prediatermined wage trate the desting the desting the defer the appreciation dat	15		06/30/2018	36.000	FΔ		1 00		36,000.0
IMPORTANT! FOR TOTAL		By performing the services detailed in this purchase order, 0 is entering into a contract with the City. Contractor certifies t or she is aware of the wage provisions described herein and with such provisions before commencing services. A. PREVAILING WAGES. Pursuant to San Diego Municipal 22.3019, construction, alteration, demolition, repair and mai work performed under this Contract is subject to State preve laws. For construction work performed under this Contract cumulatively exceeding \$25,000 and for alteration, demolition, repair and work performed under this Contract cumulatively exceeding contractor and its subcontractors shall comply with State preveale laws including, but not limited to, the requirements list This requirement is in addition to the requirement to pay Livip pursuant to San Diego Municipal Code sections 22.4201thrc Contractor must determine which per diem rate is highest for classification of work (i.e. Prevailing Wage Rate or Living W and pay the highest of the two rates to their employees. Livi applies to workers who are not subject to Prevailing Wage F 1. Compliance with Prevailing Wage Requirements. Pursuan 1720 through 1861 of the California Labor Code, the Contra subcontractors shall ensure that all workers who perform wo Contract are paid not less than the prevailing rate of per died determined by the Director of the California Department of In Relations (DIR). This includes work performed during the de prequest. Copies of such prevailing rate of per diem wages als found at http://www.dir.ca.gov/OPRL/DPreVAgeDeterminatic Contractor and its subcontractors shall post a copy of the pr rate of per diem wages determined by the DIR refer to expiration for the Life of this Contract. If the published wage rate does not refer to a predetermined to the predismination at each job site and 3 them available to any interested party upon request. 1.2. The wage rates determined wage rate and the predetermined with the Clr, such wage rate shall apply to this Contract, such wage rate shall apply to	Contractor hat he d shall comply Code section intenance illing wage umulatively maintenance \$15,000, the evailing ed below. ing Wage bugh 22.4245. r each age Rate), ing Wage attes. r to sections ctor and its ork under this m wages as industrial sign and ited to, in file at ited to, in file at ited to, o may be on.htm. evailing hall make on dates. I wage rate of wage e upon d wage rate is come apply to d in said more ige rates, each tract on the If the e of this ontract. s shall t a worker is n which ir 20 – 1861. comply with is keeping ords, and						
o ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be irected to <i>Billing</i> Contact person at <i>Bill-To</i> address listed above			· · · ·				FOR	TOT	AL





Date: 09/19/2017

Page 3 of 4

ine #	Item ID/Description	Del.Date	Quantity/UM	Unit Price	Extended Price		
	making them available for inspection. Contractor shall require its						
	subcontractors to also comply with section 1776. Contractor and						
	subcontractors shall submit weekly certified payroll records onlin	ie via					
	the City's web-based Labor Compliance Program. Contractor is	•					
	for ensuring its subcontractors submit certified payroll records to	the					
	City. Contractor and their subcontractor(s) shall also furnish the	or					
	records specified in Labor Code section 1776 directly to the Labor Commissioner in the manner required in Labor Code section 177						
	 Apprentices. Contractor and its subcontractors shall comply v 						
	California Labor Code sections 1777.5, 1777.6 and 1777.7 conc						
	employment and wages of apprentices. Contractor shall be held	0					
	responsible for the compliance of their subcontractors with section	ons					
	1777.5, 1777.6 and 1777.7.						
	5. Working Hours. Contractor and subcontractors shall comply v						
	California Labor Code sections 1810 through 1815, including but	t not					
	limited to: (i) restrict working hours on public works contracts to	d in					
	eight hours a day and forty hours a week, unless all hours worke excess of 8 hours per day are compensated at not less than 11/2						
	basic rate of pay; and (ii) specify penalties to be imposed on des						
	professionals and subcontractors of \$25 per worker per day for e	•					
	the worker works more than 8 hours per day and 40 hours per w	•					
	violation of California Labor Code sections1810 through 1815.						
	6. Required Provisions for Subcontracts. Contractor shall includ						
	minimum a copy of the following provisions in any contract they						
	into with a subcontractor: California Labor Code sections 1771, '	1771.1,					
	1775, 1776, 1777.5, 1810, 1813, 1815, 1860 and 1861.						
	7. Labor Code Section 1861 Certification. Contractor in accorda						
	California Labor Code section 3700 is required to secure the pay compensation of its employees and by signing this Contract, Co						
	certifies that "I am aware of the provisions of Section 3700 of the						
	California Labor Code which require every employer to be insure						
	liability for workers' compensation or to undertake self-insurance	-					
	accordance with the provisions of that code, and I will comply wi	th such					
	provisions before commencing the performance of the work of the	nis					
	Contract."						
	8. Labor Compliance Program. The City has its own Labor Com						
	Program authorized in August 2011 by the DIR. The City will with contract payments when payroll records are delinquent or deem						
	inadequate by the City or other governmental entity, or it has been						
	established after an investigation by the City or other governmer						
	entity that underpayment(s) have occurred. For questions or ass						
	please contact the City of San Diego's Equal Opportunity Contra						
	Department at 619-236-6000.						
	Contractor and Subcontractor Registration Requirements. Th						
	is subject to compliance monitoring and enforcement by the DIR						
	contractor or subcontractor shall not be qualified to bid on, be lis						
	in a bid proposal, subject to the requirements of Section 4104 of Public Contract Code, or engage in the performance of any cont						
	public contract Code, of engage in the performance of any contract public work, as defined in this chapter of the Labor Code unless	raction					
	currently registered and qualified to perform the work pursuant to	0					
	Section 1725.5. In accordance with Labor Code section 1771.1.						
	is not a violation of this section for an unregistered contractor to	C PF Lat					
	submit a bid that is authorized by Section 7029.1 of the Business	s and					
	Professions Code or by Section 10164 or 2103.5 of the Public C						
	Code, provided the contractor is registered to perform public wor	rk					
	pursuant to Section 1725.5 at the time the contract is awarded."						
	9.1 A Contractor's inadvertent error in listing a subcontractor w						
	is not registered pursuant to Labor Code section 1725.5 in a res						
	a solicitation shall not be grounds for filing a bid protest or groun for considering the bid non-responsive provided that any of the	uə					
	following apply: (1) the subcontractor is registered prior to bid						
	opening; (2) within twenty-four hours after the bid opening, the						
	subcontractor is registered and has paid the penalty registration	fee					
	specified in Labor Code section 1725.5; or (3) the subcontractor						
	replaced by another registered contractor pursuant to Public Cor						
	Code section 4107.						
	9.2 A contract entered into with any contractor or subcontracto						
tes: Th	he Terms and Conditions of this Purchase Order are availal	ble at http://sandiego	.gov/purchasing/	SEE LA	ST PAG		
	IMPORTANT!			_			
					TOTAL		
nsure	e prompt payments, PO # must appear on all shipm o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	ents and invoices; ve	all invoices must be				





Date: 09/19/2017

Page 4 of 4

Line #	Item ID/Description	Del.Date	Quantity/UM	Unit Price	Extended Price
	 violation of Labor Code section 1771.1(a) shall be subject to cancellation, provided that a contract for public work shall not b unlawful, void, or voidable solely due to the failure of the award body, contractor, or any subcontractor to comply with the requit of section 1725.5 of this section. 9.3 By performing services detailed in this purchase order, Cori is certifying that he or she has verified that all subcontractors us on this public works project are registered with the DIR in comp with Labor Code sections 1771.1 and 1725.5, and Contractor s proof of registration to the City upon request. B. Living Wages. This Contract is subject to the City's Living W Ordinance (LWO), codified at SDMC sections 22.4201 through LWO requires payment of minimum hourly wage rates and othe unless an exemption applies. SDMC section 22.4225 requires of Contractor to fill out and file a living wage certification with the City Manager within thirty (30) days of Award of the Contract. L and health benefit rates are adjusted annually in accordance w section 22.4220(b) to reflect the Consumer Price Index. Service contracts, financial assistance agreements, and City facilities agreements must include this upward adjustment of wage rates employees on July 1 of each year. In addition, Contractor agreer require all of its subcontractors, sublessees, and concessionair subject to the LWO to comply with the LWO and all applicable r and rules. 1. Exemption from Living Wage Ordinance. Pursuant to SDMC 22.4215, this Contract may be exempt from the LWO. For a de on this exemption, Contractor must complete the Living Wage Application for Exemption. C. Highest Wage Rate Applies. Contractor is required to pay th applicable wage rate where more than one wage rate applies. 	ing rements intractor sed Jiance hall provide age 22.4245. The er benefits each WO wage ith SDMC e to covered es to ces regulations C section othermination Drdinance			
Notes: Th	he Terms and Conditions of this Purchase Order are availa	able at http://sandiego	.gov/purchasing/	Line Item Total \$	331,517.4
	IMPORTANT! e prompt payments, PO # must appear on all shipn o Billing Contact person at Bill-To address listed abo			Tax \$	0.0